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I Dispute R17/7aR of efficacy of a prohibited act

a

b

»ax: whatever nin prohibited — if the person does it, the act is valid
i argument: if it weren’t valid, why would there be consequences?
~27 whatever nn prohibited — if the person does it, the act has no validity
i response: man (or other consequences) — for violating the nmn’s decree
challenge (to #37): an V1R who divorces gets no man; must remarry her (v. 1)
i answer: v 93 - his entire life, he still has the obligation to remarry her
ii  »7an require Y 93 — to obligate him to remarry her; in any case, he violated the law
Alternate version (challenge to »ax): if he must remarry = his divorce didn’t “work”
i Answer: v 93 keeps the obligation on him to remarry her
it N27 v Y2 sets of NWY to make LNIR a NWYY PrYAN IRY > no MIN (if he can remarry her)
Challenge (to &37): taking nmyn from poor produce for good (na’n 5» Ny N 10 ©MN) — per v. 2 — yet is valid Tayr12
i Answer: per RY?R ", interpreting v. 3 — must be v11p, else there is no Ron NI
ii ~ »7an verse needed to inform us that he is a X0, not just missing the ideal mxn
Challenge (to »ax): tithing 1wn 1wRW %Y pan - which is invalid
i answer: “DrwWRY” (v. 4) underscroes a separate n*wr" for each one
ii  a27 if not for mwRY, R™O grapes and olives, with separate "a5n”; but not 37 - DMPWRI assigns 15N to each
iii ~ Alternate: WK1 necessitates separation of grain from grapes, which are in one "aYn” —grouping
Challenge (to »ax): selling nnan (v. 5 — doesn’t work
i Answer: v. 5 stipualtes X3 DWTp VTP — it retains its status
ii ~ ~27 ®n excludes M3, which may be sold (if on — only alive; if D Yva — even if VINY - v. 6), unlike TWYn
Challenge (to #27): nmnn — violation of v. 7, yet it is a valid act (a: rest of v. 7 explicates that both are wTp)
i 2ax im0 M teaches that both are wp, not just his replacement
Challenge (to »ax): 131 (v. 6 forbids 1179); even if he tries, cannot “redeem” it
i Answer: "on” (ibid) establishes that it will always have status of 1122
ii ~ ~27 "Dn” teaches that only 111 is offered, not its NN

1 »ax infers that from v. 8

2 AT agrees that v. 8 is the source; "on” used to teach 7131 or 7wyn that get mixed with other 15 are offered

(a) 7an infers from v. 9 —ywn 17 still has identity even though it is much less than 790 DT->1"R1 PHVIN PR
(b) ~a7. follows 1M ", each is offered separately (on m%4a narm) = doesn’t teach about "Rt p5van PHY PR

Challenge (to »2x): 2"yn — may not redeem (v. 10) — and it isn't effective if he tries (a: infer via n1ayn::n1ayn from 1131)
Challenge (to 837): designating nnyIn before o m22a (v. 11) — valid (a: v. 12 DM wyn Yan - groups them together)
i »aw for distinction between "5 taking 1”yn before 3yn taken at »13 or in field
Challenge (to »27): if 3"n2> marries MnYR (v. 13) (a: Yon> RY impliest that the pwyp are valid)
i 7an 591 R teaches that both she and the child are o%5n
Challenge (to 827): n"pa w*1pn to the nam (v. 14) — yet is wpn (a: v. 15 — 1¥P RY 9T% > not nxn but is v1IP)
i 2an ¥ RY 9T informs us that it may not be brought
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